[ Efficiency vs vertpos |

= 0.0 ,
9,009 -+++e+eseieeereneene SR e
N : : :
D008+ erresieneeees IR SRR
(8] . . .
B.007F----ommioeee SRRTETEERE e
&} H H
B.006F- - --ieeeeee Rt e
0.005f--------viseeeeeeees e o
0.004f -+ P Feeeeeeeeen e
0,003 -----eneiseeerfonee Rt e
0.002f -+ S Feeeeeeeeen e
0.001F -+ veeriveeeen e Beoeeeees e
o 9
5
o

0.5_— '''''''''''''''''''''''''''''''''''''

of : :

107 10™ 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__ Global__mkFitbasel_RECO
Efficiend —— pom_v0001_R000000001__Global__mkFitbase2_ RECO

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0%

N R R B R R
Sim. PV z (cm)



	Contents
	Page 1


